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BEYTi20224F “RrivHRI” BRI A RIZelE o4

B@li.) X | %5 BB AL | | A | B | R
LERKKX 7 | Lk | %JLE 70 218 79 | 53.5
LERXX | EXR% | M 708 26 78 80 70
LERXX | EXR% | M A 23 70 92 60
LERXX | BXRY | M# I 13 39 83 | 73.5
LERXX | EX% | hF BuA 9 29 74 65
LEXX | BExXZ% | ¥ TR 30 92 88.5 | 51.5
LERXX | BXR% | M =} 30 92 79 | 50.5
LEXX | ExRZ% | e ER 28 93 77 62
LERXX | BXRY | M# FREER [ 13 39 83 64
LERXX | BEXR% | hF R 4 14 86 57
LEXX | ERG | A | CEEE | 4 12 69 52
LEXX | ExX% | ¥t 708 13 42 77 70
LEXX | BxX% | ¥k A 10 30 94 75
LEXX | ExX% | #WiF FEiE 13 40 89 81
LEXX | BExXZ% | ¥t BEH 5 16 77 58
LEXX | ExX% | #iF 12 5 17 83 73
LEXX | ExXRY% | ¥t G| 2 8 80 67
LEXX | BxX% | ¥k Hiy 3 3 9 86 71
LEXX | EX% | #h ik 5 17 70 61
LEXX | BExXZ% | ¥t BuA 5 16 81 71
LEXX | ExX% | #iF R 10 30 85 57
LEXX | ExR% | ¥t =} 11 33 75 52
LEXX | BxX% | ¥k FEAR 9 30 74 65
LEXX | ExX% | #WiF SEHEAR | 5 15 86 67
LERXX | ExX% | wih | O¥fEE | 4 12 72 63
NE= | Lk | %JLE 60 181 68 | 49.5
NVIE= ExE | D 708 38 115 76 64
KITE Exg | DNE G2 36 112 89 52
NVIE= ExE | D HEIE 11 34 87 73
KITE ExE | ¥ IR 11 34 84 | 41.5
K75 ExE | D =] 9 28 71.5 | 39
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BEYTi20224F “RrvHRI” BRI i RIZe G o4

Bl X | %5 BB AL | | A | B | R
KT & ExRg | N ER 9 27 71 59
KITE Exg | % | BEHEHA| 5 15 85 52
KITE Exg | DN 2 7 22 81 47
NVE= EZxH | /NE | DEEE | 6 18 71 48
K75 Exgk | #ih THL 22 81 78 70
KT & Exg | w1 G 15 48 91 71
NVIE= ExE | ¥t HEIE 11 33 85 | 76.5
K75 Exg | wid B 16 55 88 61
K75 Exg | wid b2 4 12 83 71
KITE Exgk | #ih ) 6 23 76 67
KITE Exg | #i b3 7 23 86 78
KITE Exgk | #ih ik 9 28 83 65
NVIE= Exg | wid BG 3 9 73 66
KITE Exg | wid R 1 3 69 | 49.5
KITE Exgk | #ih wE 11 33 75.5 | 52
KT & Exg | w1 EAR 2 7 67 55
K75 x| vk | OFEERE | 1 3 64 37
LI} | #JLkE | 4L 30 95 71 50
our ExE | D T3 43 149 78 66
v Exg | D G2 30 90 89 43
L] ExE | ¥ PEiE 7 22 84.5 | 73.5
L] Exg | DN A 15 48 84 64
LI} Exg | DNE IR 15 46 80.5 | 34
Tl ExE | D =} 15 45 76 | 42.5
v Exg | D ER 15 54 71 62
STt} Exg | D | BEHEA | 5 15 90 45
Bvh T Exg | % | OEERE | 5 15 74 54
ARz ExE | D 708 53 176 78 66
A= ExE | D G 37 112 87 39
AR ExE | D2 I 15 47 86.5 | 66
SR ExE | ¥ IR 8 24 83.5 | 45
SWE | BERY | NEF N 12 36 73.5 | 44
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BEYTi20224F “RrvHRI” BRI i RIZe G o4

Bl X | %5 B AL | | A | B | R
SR ExRg | N ER 8 26 72 62
U= Exg | Mg | BEEAR] 2 8 72 49
A= ExE | D B 5 15 75 20
A= Exg | wid T3 10 30 78 61
S & Exgk | #ih K 10 27 83 29
SR Exg | w1 PEiE 11 36 89 73
U= ExE | ¥t BE 5 15 83 44
ARz Exg | wid == 3 13 77 62
A= Exg | wid ) 2 9 71 61
EAUEE ExE | #IF Hiy 3 4 12 80 70
SR Exg | #i ik 3 9 74 66
A= ExE | #f BG 3 10 69 63
LB Exg | wid (] 5 15 69.5 | 39
AR B | wrh | DEfERE | 4 12 70 47
Heh ExE | D2 T 5 18 79 69
gla B Exg | N o 5 15 79 47
Heh ExE | D HEIE 10 30 87 | 71.5
Heh ExE | D BG 5 15 80 64
Heh ExE | D TR 15 15 84 | 53.5
Heh ExE | D2 (e 15 46 76.5 | 42
LR ExE | ¥ EAR 15 47 72 57
e Exg | e | BEHEAR ]| 15 45 82 48
Heh ExE | D Bl 5 15 82 41
Heh B | /e | LEfgRE | 10 31 78 54
97 B ExE | D2 TH3L 25 77 79.5 | 68
g E ExE | ¥ G 25 75 90 41
97 H ExE | D HEIE 17 52 87.5 | 73
97 B ExE | D BG 8 26 75 55
g H ExE | D TR 8 24 74 | 26.5
g E Exg | D wE 14 43 73 39
g2 Exg | N ER 8 25 72 56
g7 H Exg | e | BEHEHA| 5 15 82 42
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BEYTi20224F “RrvHRI” BRI i RIZe G o4

Bl X | %5 BB AL | | A | B | R
g E ExE | ¥ R 5 15 87 43
PR Exg | D | LEfEE | 5 11 67 44
97 B Exg | Wi 708 3 9 72 66
9 H Exg | wid G 15 45 89 66
g E ExE | #f FEiE 3 9 87 | 69.5
7B Exg | w1 BEH 5 15 88 62
g E ExE | ¥t 12 5 17 85 69
97 B Exg | wid G| 4 14 73 65
97 Exg | wid Hiy 3 4 13 86 75
97 B Exgk | #ih ik 4 12 76 63
7 H Exg | #i Bua 6 19 76 67
g E ExE | #f R 5 14 60.5 | 30
g E Exg | wid iN=} 11 33 74.5 | 49.5
g2 Exg | wid FEAR 5 16 75 63
g E Exg | wih | BEEAR]|] 5 15 81 51
g2 Ex% | wih | OEER | 5 15 67 51
BT 7 | #JLkE | %JLE 50 163 75 | 57.5
Ja T B ExE | D 708 35 119 80 70
Ja T B Exg | DNE A 35 108 89 63
Ja T B ExE | D2 I 35 115 86 73
3T B ExE | ¥ IR 35 105 84 | 53.5
BT B Exg | DN =] 35 110 76 53
BT B Exg | DNE EVN 25 92 77 63
BT B ExE | D SEEAR |20 60 86 62
BT B Exg | D Rz 25 79 88 42
3T B B | /D | OEfEE | 5 7 73 44
2 T B Exgk | #ih THL 8 25 77 71
3T B Exg | wid A 10 32 91 75
Ja T B Exg | wid I 16 48 86 76
3T B ExE | #IF YEE 8 26 90 57
3T B Exg | #i b2 4 13 81 70
2 T B Exgk | #ih ) 3 11 73 66
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BEYTi20224F “RrvHRI” BRI i RIZe G o4

B X | 25 BB R[S AR | B | B
3T B Exg | w1 3 5 15 94 78
BT B Exgk | #ih ik 5 15 79 63
Ja T B Exg | Wi BG 5 16 81 72
BT B Exg | wid IR 5 15 84.5 | 48.5
BT B Exgk | #ih wE 8 25 71 58
s | BxR% | i FEAR 3 10 70 59
s | BXR% | widh | BREEAR] 5 16 79 55
3T B Exg | wih | OFEERE | 10 33 76 60
BT Exg | wid Hop 5 15 59 12
ik 7 B Exg | D 10 3 10 71.5 | 64
MEE | ERE | N VS 3 9 64 49
ik 7 B ExE | D FEiE 2 6 64 | 55.5
ik 7 B ExE | D IR 3 9 69.5 | 47.5
ik 7 ExE | D wE 3 9 76.5 | 49
MmES | ERY | hF ER 1 3 64 58
MEs | ERH | hF e 2 6 60 50
ik 7 B Exgk | #ih THL 6 18 76 70
ik 7 B Exg | wih G2 7 21 84 37
i 7 B Exg | wid FEIE 4 12 83 75
ik 7 B ExE | #If YEE 5 17 81 55
itk & H Exg | #I b2 1 3 84 69
ik 7 B Exgk | #ih Hiy 38 1 3 80 62
ik 7 Exg | wid ik 2 6 74 60
ik 7 B Exg | wid A 2 8 78 71
ik 7 B ExE | #f =} 3 9 80.5 | 49
Es | BExR% | with ER 1 3 70 62
ik 7 B x| vk | OFEERE | 1 3 59 50
HEFES | 7 | gJLE | ghJLE 4 12 64 | 50.5
HEMR | BExg | D A 4 12 72 46
HEAR | BX%E | (N 8 24 73.5 | 47
HEFES | ExR% | M ER 2 6 73 63
HEMR | Exg | D | g | 2 4 61 52
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FE 20224 “Krpgit-RI” BomfEis it RN i %
B, ) K| %5 S92 2R PRRIB | WKL | sy | SRRy
HEMR | BEXg | W W) 1 3 72 68
HEMAR | BExR% | v Hh 7 1 3 70 65
HEARS | BZXYE | v ik 2 6 70 56
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